9.58

A hot sir Balloon roughly spherical in
ﬁzape fias & volume of 70,000 f¢ and 2 weight of

500 b finciuding passengers, basket, bafloon fab-
rie, wte.). If the outdide =i Qex;zpamkum is B0 ¥
sand the temperature sithin the balloon is 165 7F,
estimate the rate at which i1 will rise under steady
stare conditions i the atmospheric pressure s 14.7
pil.

For steady rise P k=0, or Fo= Wt
where .
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and

e
Note: Since the balloen is

pr? opsn al Hhe bottom, he
Tﬁ&fﬁ with ¥ = it G2 | gﬁﬁq}m within the balloon
T gp D= SLL fE we oblaln ;sfﬂ&;ﬁ ly His same as it is
putside

= Gy (o.00229) U E (510 )"
= 2,96 6, U Ib, whers U~ g
Alsa,
m%{m 500 1 +(0, 0634 5%){ 74000 %) = 4952 /4
Fo=(0.073¢ f)(700 ) = 51528 Thus, Fy =W +i8 gies

5152 Ib wf?sz b+ 2sser’  on GV =847 e
Alse, Re = 42 '

o ghil %”f v _
Re = Lsrxe it 32850 [/ @

and  from FU 2 923 %i | ()

7rial and error solution’ ﬁmm’e Gy ; obtain U from £4.0), Re from £4.023;
check &, Fram £ 2.02) he gmﬁé
Assume Gy = 05w =130 & v Bpzg23 /0% — = Q29¢ 0,5

ﬁssam @é w @ 24w I =188 éi e Fo 2 g4F x20F £, = 0304 0. 24
Assume Gﬁﬁ £.80 ~¥ et Ho s £ 408 £/ g% — -é%w 3,38 f&‘}}gg%‘g}
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